

District School Board of Pasco County

Bid Recommendation

Bid Title	Paper Products – Warehouse Stock- Part II		Number of Vendors Notified	272
Bid Number	07-004-MK		Number of Bids Distributed	69
Date Solicited	12/22/2005		Number of Vendors Responding	21
Date Opened	2/2/2006		Number of Vendors Not Bidding	1
Date Board Presentation	4/4/2006		Number of Vendors Bidding	20
Total Savings	\$15,716.30		Grand Total of Bid	\$98,463.60

Recommendation: Recommend acceptance of bid as noted on the attached tabulation sheet as lowest and best bid meeting written specifications and testing criteria.

Term of Contract: This is a one-time purchase for paper products to be stocked in the central warehouse for use throughout the District.

Notations and Exceptions: In most cases, paper was bid in two groups per category (i.e., Group I Drawing Paper – Non-Recycled) and Group I-A Drawing paper – Recycled content. Any group denoted with an “A” after the group refers to a recycled content product. Bidders were advised only one group would be awarded based upon costs. Where recycled products are recommended for award, recycled bids were within the 10% price variance (price preference), met minimum specified recycled content, provided required samples, or were lower in price than the non-recycled products being bid.

Savings were based upon the total average price for each category (i.e., Group I Drawing Paper – Non-Recycled). One No Bid was received from Dick Blick Art Materials.

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Kathy Sanz, Supervisor, CIS
Clay Verge, Art Teacher, HHS
Jan Mallet, Art Teacher, SSMS

Bids Prepared By:

Mina Kaeding, Buyer

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

**07-004-MK Paper Products – Part II
Notes and Exceptions**

Group IV PP-09 (Practice Paper): Recommend acceptance bid from Pyramid School Products as best bid meeting written specifications and testing criteria. All lower priced bids failed to provide samples for evaluation purposes as specified in the bid documents and therefore could not be considered.

Group IVA PP-09 (Practice Paper): Reject - Recommend award to Group IV as lowest and best bid meeting written specifications and testing criteria.

Group IV PP-14 (Manila Tag Sheet): Recommend acceptance bid from Pyramid School Products as best bid meeting written specifications and testing criteria. All lower priced bids failed to provide samples for evaluation purposes as specified in the bid documents and therefore could not be considered.

Group IVA PP-14 (Manila Tag Sheet): Reject - Recommend award to Group IV as lowest and best bid meeting written specifications and testing criteria.

Group IV PP-15 (Chart Paper): Recommend acceptance bid from Pyramid School Products as best bid meeting written specifications and testing criteria. All lower priced bids failed to provide samples for evaluation purposes as specified in the bid documents and therefore could not be considered.

Group IVA PP-15 (Chart Paper): Reject - Recommend award to Group IV as lowest and best bid meeting written specifications and testing criteria.

Group IV PP-57 (Storybook Newsprint): Recommend acceptance bid from Pyramid School Products as best bid meeting written specifications and testing criteria. All lower priced bids failed to provide samples for evaluation purposes as specified in the bid documents and therefore could not be considered.

Group IVA PP-57 (Storybook Newsprint): Reject - Recommend award to Group IV as lowest and best bid meeting written specifications and testing criteria.

Group V (Construction Paper): Reject - Recommend award to Group VA as lowest and best bid meeting written specifications and testing criteria.

Group VA (Construction Paper): Recommend acceptance of bid from Pyramid School Products as lowest and best bid meeting written specifications and testing criteria.

DATE OF OPENING: February 2, 2006, 10:00 a.m.			AFP Industries, Inc.		Boritex, Inc.		Bye-Mo'r, Inc.		Dade Paper Company	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			P.O. Box 43-0747		P.O. Box 171088		P.O. Box 107		6918 Presidents Drive	
BID #07-004-MK			South Miami, FL 33243		Arlington, TX 76003		Kingsbury, IN 46345		Orlando, FL 32809	
Recommendation - Part II			305-663-8300		817-467-1237		800-847-9219		407-859-1020	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
GROUP I - DRAWING PAPER										
PP-01	1200	9" x 12" Size White	5.18	6,216.00		No Bid	5.03	6,036.00		No Bid
	Reams	Manufacturer	Roselle WDP80712				American Paper 809W			
PP-02	900	12" x 18" White	10.33	9,297.00		No Bid	10.06	9,054.00		No Bid
	Reams	Manufacturer	Roselle WDP801218				American Paper 812W			
PP-04	360	12"x18" Size Buff	9.18	3,304.80		No Bid	10.18	3,664.80		No Bid
	Reams	Manufacturer	Roselle MDP801218				American Paper 812M			
		Total "All or None" Bid Price - Group I		18,817.80		No Bid		18,754.80		No Bid
GROUP IA - DRAWING PAPER										
PPA-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-02	900	12" x 18" White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-04	360	18" x 24" Buff		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
		Total "All or None" Bid Price - Group IA		No Bid		No Bid		No Bid		No Bid
GROUP IV: CHART PAPER & NEWSPRINT										
PP-09	200	Practice Paper	17.68	3,536.00		No Bid	*22.30	4,460.00		No Bid
	Cartons	Manufacturer	Roselle RWN8511				American Paper 8508			
PP-14	120	Manila Tag Sheet	12.88	1,545.60		No Bid	*14.00	1,680.00		No Bid
	Cartons	Manufacturer	Roselle MTB1252436				American Paper 9740C			
PP-15	1,800	Chart Paper, Spiral Bound	2.12	3,816.00		No Bid	*2.22	3,996.00		No Bid
	Pads	Manufacturer	Roselle RWC243211/2				American Paper 2415			
PP-16	200	9" x 12" Newsprint	15.58	3,116.00		No Bid	*19.38	3,876.00		No Bid
	Cases	Manufacturer	Roselle WNP912				American Paper 309			
PP-17	200	12"x18" Newsprint Un-ruled	15.58	3,116.00		No Bid	*19.00	3,800.00		No Bid
	Cartons	Manufacturer	Roselle WNP1218				American Paper 312			
PP-57	150	Storybook Newsprint	19.88	2,982.00		No Bid	*22.52	3,378.00		No Bid
	Cases	Manufacturer	Roselle RWN1218				American Paper R10N1218			
							*One ship with 9 or 15			

DATE OF OPENING: February 2, 2006, 10:00 a.m.			AFP Industries, Inc.		Boritex, Inc.		Bye-Mo'r, Inc.		Dade Paper Company	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			P.O. Box 43-0747		P.O. Box 171088		P.O. Box 107		6918 Presidents Drive	
BID #07-004-MK			South Miami, FL 33243		Arlington, TX 76003		Kingsbury, IN 46345		Orlando, FL 32809	
Recommendation - Part II			305-663-8300		817-467-1237		800-847-9219		407-859-1020	
GROUP IVA: CHART PAPER & NEWSPRINT										
PP-09A	200	Practice Paper			No Bid		No Bid		No Bid	No Bid
	Cartons	Manufacturer								
PP-14A	120	Manila Tag Sheet			No Bid		No Bid		No Bid	No Bid
	Cartons	Manufacturer								
PP-15A	1,800	Chart Paper, Spiral Bound			No Bid		No Bid		No Bid	No Bid
	Pads	Manufacturer								
PP-16A	200	9" x 12" Newsprint			No Bid		No Bid		No Bid	No Bid
	Cartons	Manufacturer								
PP-17A	200	12"x18" Newsprint Un-ruled			No Bid		No Bid		No Bid	No Bid
	Cases	Manufacturer								
PP-57A	150	Storybook Newsprint			No Bid		No Bid		No Bid	No Bid
	Cases	Manufacturer								
GROUP V: CONSTRUCTION PAPER										
		Manufacturer	Riverside Tru-Ray			Peacock by Pacon				
PP-18A	3,000	Orange	1.45	4,350.00		No Bid	1.685	5,055.00		No Bid
	Packages						P6612			
PP-18B	3,000	Holiday Green	1.51	4,530.00		No Bid	1.52	4,560.00		No Bid
	Packages						P8012			
PP-18C	3,000	Scarlet Red	1.45	4,350.00		No Bid	1.64	4,920.00		No Bid
	Packages						P6012			
PP-18D	3,000	White	1.29	3,870.00		No Bid	1.341	4,023.00		No Bid
	Packages						P8712			
PP-18E	3,000	Black	1.29	3,870.00		No Bid	1.506	4,518.00		No Bid
	Packages						P6312			
PP-18F	1,500	Light Brown (Warm)	1.39	2,085.00		No Bid	1.408	2,112.00		No Bid
	Packages						P6912			
PP-18G	3,000	Yellow	1.39	4,170.00		No Bid	1.438	4,314.00		No Bid
	Packages						P8412			

DATE OF OPENING: February 2, 2006, 10:00 a.m.			AFP Industries, Inc.		Boritex, Inc.		Bye-Mo'r, Inc.		Dade Paper Company	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			P.O. Box 43-0747		P.O. Box 171088		P.O. Box 107		6918 Presidents Drive	
BID #07-004-MK			South Miami, FL 33243		Arlington, TX 76003		Kingsbury, IN 46345		Orlando, FL 32809	
Recommendation - Part II			305-663-8300		817-467-1237		800-847-9219		407-859-1020	
PP-18H	3,000	Dark Blue	1.51	4,530.00		No Bid	1.648	4,944.00		No Bid
	Packages						P7312			
PP-18I	1,200	Purple	1.51	1,812.00		No Bid	1.587	1,904.40		No Bid
	Packages						P7212			
PP-18J	3,000	Light Blue	1.39	4,170.00		No Bid	1.341	4,023.00		No Bid
	Packages						P7612			
PP-18K	1,000	Light Green	1.38	1,380.00		No Bid	1.408	1,408.00		No Bid
	Packages						P8112			
PP-18L	1,500	Pink	1.44	2,160.00		No Bid	1.341	2,011.50		No Bid
	Packages						P7012			
PP-18M	1,000	Red/Orange	1.50	1,500.00		No Bid	1.587	1,587.00		No Bid
	Packages						P6212			
PP-18O	4,000	Assorted	1.59	6,360.00		No Bid	1.633	6,532.00		No Bid
	Packages						P6512			
PP-18P	1,500	Dark Brown	1.45	2,175.00		No Bid	1.648	2,472.00		No Bid
	Packages						P6812			
PP-18R	1,000	Tan	1.38	1,380.00		No Bid	1.408	1,408.00		No Bid
	Packages						P6912			
PP-18T	1,000	Gray	1.39	1,390.00		No Bid	1.385	1,385.00		No Bid
	Packages						P8812			
PP-18U	600	Magenta	1.55	930.00		No Bid	1.58	948.00		No Bid
	Packages						P6412			
		Total "All or None" Bid Price - Group V		55,012.00		No Bid		58,124.90		No Bid

DATE OF OPENING: February 2, 2006, 10:00 a.m.			AFP Industries, Inc.		Boritex, Inc.		Bye-Mo'r, Inc.		Dade Paper Company	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			P.O. Box 43-0747		P.O. Box 171088		P.O. Box 107		6918 Presidents Drive	
BID #07-004-MK			South Miami, FL 33243		Arlington, TX 76003		Kingsbury, IN 46345		Orlando, FL 32809	
Recommendation - Part II			305-663-8300		817-467-1237		800-847-9219		407-859-1020	
GROUP VA: CONSTRUCTION PAPER-Recycled										
		Manufacturer	Riversdie Tru-Ray R Series							
PPA-18A	3,000	Orange	1.09	3,270.00		No Bid		No Bid		No Bid
		Packages								
PPA-18B	3,000	Holiday Green	0.99	2,970.00		No Bid		No Bid		No Bid
		Packages								
PPA-18C	3,000	Scarlet Red	1.13	3,390.00		No Bid		No Bid		No Bid
		Packages								
PPA-18D	3,000	White	1.09	3,270.00		No Bid		No Bid		No Bid
		Packages								
PPA-18E	3,000	Black	1.07	3,210.00		No Bid		No Bid		No Bid
		Packages								
PPA-18F	1,500	Light Brown (Warm)	1.06	1,060.00		No Bid		No Bid		No Bid
		Packages								
PPA-18G	3,000	Yellow	0.99	2,970.00		No Bid		No Bid		No Bid
		Packages								
PPA-18H	3,000	Dark Blue	1.07	3,210.00		No Bid		No Bid		No Bid
		Packages								
PPA-18I	1,200	Purple	0.99	1,188.00		No Bid		No Bid		No Bid
		Packages								
PPA-18J	3,000	Light Blue	0.99	2,970.00		No Bid		No Bid		No Bid
		Packages								
PPA-18K	1,000	Light Green	0.99	990.00		No Bid		No Bid		No Bid
		Packages								
PPA-18L	1,500	Pink	0.99	1,485.00		No Bid		No Bid		No Bid
		Packages								
PPA-18M	1,000	Red/Orange	1.18	1,180.00		No Bid		No Bid		No Bid
		Packages								
PPA-18O	4,000	Assorted	1.27	5,080.00		No Bid		No Bid		No Bid
		Packages								
PPA-18P	1,500	Dark Brown	1.13	1,695.00		No Bid		No Bid		No Bid
		Packages								
PPA-18R	1,000	Tan	1.08	1,080.00		No Bid		No Bid		No Bid
		Packages								
PPA-18T	1,000	Gray	0.99	990.00		No Bid		No Bid		No Bid
		Packages								
PPA-18U	600	Magenta	1.06	636.00		No Bid		No Bid		No Bid
		Packages								
		Total "All or None" Bid Price - Group VA		40,644.00		No Bid		No Bid		No Bid

DATE OF OPENING: February 2, 2006, 10:00 a.m.			AFP Industries, Inc.		Boritex, Inc.		Bye-Mo'r, Inc.		Dade Paper Company	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			P.O. Box 43-0747		P.O. Box 171088		P.O. Box 107		6918 Presidents Drive	
BID #07-004-MK			South Miami, FL 33243		Arlington, TX 76003		Kingsbury, IN 46345		Orlando, FL 32809	
Recommendation - Part II			305-663-8300		817-467-1237		800-847-9219		407-859-1020	
GROUP VI: RAILROAD BOARD										
PP-19	200	White	16.98	3,396.00	No Bid	18.15	3,630.00	No Bid		
	Cartons	Manufacturer	Roselle RR6XX-100			American by Beverage				
PP-20	300	Assorted Colors	22.28	6,684.00	No Bid	21.89	6,567.00	No Bid		
	Cartons	Manufacturer	Roselle RR6XX-100			American by Beverage				
		Total "All or None" Bid Price - Group VI-A		10,084.00	No Bid		10,197.00	No Bid		
GROUP VI-A: RAILROAD BOARD										
PP-19A	200	White		No Bid	No Bid		No Bid	No Bid		
	Cartons	Manufacturer								
PP-20A	300	Assorted Colors			No Bid		No Bid	No Bid		
	Cartons	Manufacturer								
		Total "All or None" Bid Price - Group VI-A			No Bid		No Bid	No Bid		
GROUP X: OFFICE PADS										
PP-07	240	5" x 8" Office Pads - White	2.88	691.20	No Bid		No Bid	No Bid		
	Package	Manufacturer	Mead 59128							
PP-08	1,200	8-1/2" x 11" Office Pads - White	4.15	4,980.00	No Bid		No Bid	No Bid		
	Package	Manufacturer	Mead 59132							
PP-27	720	8-1/2" x 11" Office Pads - Yellow	4.15	2,988.00	No Bid		No Bid	No Bid		
	Package	Manufacturer	Mead 59130							
PP-28	240	8-1/2" x 14" Office Pads - Yellow	6.08	1,459.20	No Bid		No Bid	No Bid		
	Package	Manufacturer	Mead 59134							
PP-33	720	5" x 8" Office Pads - Canary	2.88	2,073.60	No Bid		No Bid	No Bid		
	Package	Manufacturer	Mead 59126							
		Total "All or None" Bid Price - Group X		12,192.00	No Bid		No Bid	No Bid		
GROUP XV: ART TISSUE PAPER										
PP-05	360	20"x30" Size Assorted					No Bid			
	Packages	Manufacturer								
		Number of Sheets Per Package								

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Elgin School Supply Co.,	Global Associates Computers	The Home Depot Supply	MG Office Products, Inc.				
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			260 Ryan Ave.	2000 BaBanks Rd.	10641 Scripps Summit Court	1644 Land O' Lakes Blvd.				
BID #07-004-MK			Chico, CA 95973	Margate, FL 33063	San Diego, CA 92131	Lutz, FL 33549				
Recommendation - Part II			530-894-6338	888-979-4140	800-431-3000	813-490-5790				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
GROUP I - DRAWING PAPER										
PP-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PP-02	900	12" x 18" White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PP-04	360	12"x18" Size Buff		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
		Total "All or None" Bid Price - Group I		No Bid		No Bid		No Bid		No Bid
GROUP IA - DRAWING PAPER										
PPA-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-02	900	12" x 18" White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-04	360	18" x 24" Buff		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
		Total "All or None" Bid Price - Group IA		No Bid		No Bid		No Bid		No Bid
GROUP IV: CHART PAPER & NEWSPRINT										
PP-09	200	Practice Paper		No Bid		No Bid		No Bid		No Bid
	Cartons	Manufacturer								
PP-14	120	Manila Tag Sheet		No Bid		No Bid		No Bid		No Bid
	Cartons	Manufacturer								
PP-15	1,800	Chart Paper, Spiral Bound		No Bid		No Bid		No Bid		No Bid
	Pads	Manufacturer								
PP-16	200	9" x 12" Newsprint		No Bid		No Bid		No Bid		No Bid
	Cases	Manufacturer								
PP-17	200	12"x18" Newsprint Un-ruled		No Bid		No Bid		No Bid		No Bid
	Cartons	Manufacturer								
PP-57	150	Storybook Newsprint		No Bid		No Bid		No Bid		No Bid
	Cases	Manufacturer								

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Elgin School Supply Co.,	Global Associates Computers	The Home Depot Supply	MG Office Products, Inc.
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			260 Ryan Ave.	2000 BaBanks Rd.	10641 Scripps Summit Court	1644 Land O' Lakes Blvd.
BID #07-004-MK			Chico, CA 95973	Margate, FL 33063	San Diego, CA 92131	Lutz, FL 33549
Recommendation - Part II			530-894-6338	888-979-4140	800-431-3000	813-490-5790
GROUP IVA: CHART PAPER & NEWSPRINT						
PP-09A	200	Practice Paper	No Bid	No Bid	No Bid	No Bid
	Cartons	Manufacturer				
PP-14A	120	Manila Tag Sheet	No Bid	No Bid	No Bid	No Bid
	Cartons	Manufacturer				
PP-15A	1,800	Chart Paper, Spiral Bound	No Bid	No Bid	No Bid	No Bid
	Pads	Manufacturer				
PP-16A	200	9" x 12" Newsprint	No Bid	No Bid	No Bid	No Bid
	Cartons	Manufacturer				
PP-17A	200	12"x18" Newsprint Un-ruled	No Bid	No Bid	No Bid	No Bid
	Cases	Manufacturer				
PP-57A	150	Storybook Newsprint	No Bid	No Bid	No Bid	No Bid
	Cases	Manufacturer				
GROUP V: CONSTRUCTION PAPER						
		Manufacturer				
PP-18A	3,000	Orange	No Bid	No Bid	No Bid	No Bid
	Packages					
PP-18B	3,000	Holiday Green	No Bid	No Bid	No Bid	No Bid
	Packages					
PP-18C	3,000	Scarlet Red	No Bid	No Bid	No Bid	No Bid
	Packages					
PP-18D	3,000	White	No Bid	No Bid	No Bid	No Bid
	Packages					
PP-18E	3,000	Black	No Bid	No Bid	No Bid	No Bid
	Packages					
PP-18F	1,500	Light Brown (Warm)	No Bid	No Bid	No Bid	No Bid
	Packages					
PP-18G	3,000	Yellow	No Bid	No Bid	No Bid	No Bid
	Packages					

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Elgin School Supply Co.,	Global Associates Computers	The Home Depot Supply	MG Office Products, Inc.
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			260 Ryan Ave.	2000 BaBanks Rd.	10641 Scripps Summit Court	1644 Land O' Lakes Blvd.
BID #07-004-MK			Chico, CA 95973	Margate, FL 33063	San Diego, CA 92131	Lutz, FL 33549
Recommendation - Part II			530-894-6338	888-979-4140	800-431-3000	813-490-5790
PP-18H	3,000	Dark Blue		No Bid	No Bid	No Bid
	Packages					
PP-18I	1,200	Purple		No Bid	No Bid	No Bid
	Packages					
PP-18J	3,000	Light Blue		No Bid	No Bid	No Bid
	Packages					
PP-18K	1,000	Light Green		No Bid	No Bid	No Bid
	Packages					
PP-18L	1,500	Pink		No Bid	No Bid	No Bid
	Packages					
PP-18M	1,000	Red/Orange		No Bid	No Bid	No Bid
	Packages					
PP-18O	4,000	Assorted		No Bid	No Bid	No Bid
	Packages					
PP-18P	1,500	Dark Brown		No Bid	No Bid	No Bid
	Packages					
PP-18R	1,000	Tan		No Bid	No Bid	No Bid
	Packages					
PP-18T	1,000	Gray		No Bid	No Bid	No Bid
	Packages					
PP-18U	600	Magenta		No Bid	No Bid	No Bid
	Packages					
		Total "All or None" Bid Price - Group V		No Bid	No Bid	No Bid

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Elgin School Supply Co.,	Global Associates Computers	The Home Depot Supply	MG Office Products, Inc.
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			260 Ryan Ave.	2000 BaBanks Rd.	10641 Scripps Summit Court	1644 Land O' Lakes Blvd.
BID #07-004-MK			Chico, CA 95973	Margate, FL 33063	San Diego, CA 92131	Lutz, FL 33549
Recommendation - Part II			530-894-6338	888-979-4140	800-431-3000	813-490-5790
GROUP VA: CONSTRUCTION PAPER-Recycled						
		Manufacturer				
PPA-18A	3,000	Orange	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18B	3,000	Holiday Green	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18C	3,000	Scarlet Red	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18D	3,000	White	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18E	3,000	Black	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18F	1,500	Light Brown (Warm)	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18G	3,000	Yellow	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18H	3,000	Dark Blue	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18I	1,200	Purple	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18J	3,000	Light Blue	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18K	1,000	Light Green	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18L	1,500	Pink	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18M	1,000	Red/Orange	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18O	4,000	Assorted	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18P	1,500	Dark Brown	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18R	1,000	Tan	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18T	1,000	Gray	No Bid	No Bid	No Bid	No Bid
	Packages					
PPA-18U	600	Magenta	No Bid	No Bid	No Bid	No Bid
	Packages					
		Total "All or None" Bid Price - Group VA	No Bid	No Bid	No Bid	No Bid

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Elgin School Supply Co.,	Global Associates Computers	The Home Depot Supply	MG Office Products, Inc.
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			260 Ryan Ave.	2000 BaBanks Rd.	10641 Scripps Summit Court	1644 Land O' Lakes Blvd.
BID #07-004-MK			Chico, CA 95973	Margate, FL 33063	San Diego, CA 92131	Lutz, FL 33549
Recommendation - Part II			530-894-6338	888-979-4140	800-431-3000	813-490-5790
GROUP VI: RAILROAD BOARD						
PP-19	200	White	No Bid	No Bid	No Bid	74.00 14,800.00
	Cartons	Manufacturer				Riverside
PP-20	300	Assorted Colors	No Bid	No Bid	No Bid	75.00 22,500.00
	Cartons	Manufacturer				Riverside
		Total "All or None" Bid Price - Group VI-A	No Bid			37,300.00
GROUP VI-A: RAILROAD BOARD						
PP-19A	200	White	No Bid	No Bid	No Bid	No Bid
	Cartons	Manufacturer				
PP-20A	300	Assorted Colors	No Bid	No Bid	No Bid	No Bid
	Cartons	Manufacturer				
		Total "All or None" Bid Price - Group VI-A	No Bid	No Bid	No Bid	No Bid
GROUP X: OFFICE PADS						
PP-07	240	5" x 8" Office Pads - White	No Bid	No Bid	No Bid	3.75 900.00
	Package	Manufacturer				Universal 46300
PP-08	1,200	8-1/2" x 11" Office Pads - White	No Bid	No Bid	No Bid	4.75 5,700.00
	Package	Manufacturer				Universal 20630
PP-27	720	8-1/2" x 11" Office Pads - Yellow	No Bid	No Bid	No Bid	4.75 \$3,420.00
	Package	Manufacturer				Universal 10630
PP-28	240	8-1/2" x 14" Office Pads - Yellow	No Bid	No Bid	No Bid	8.00 \$1,920.00
	Package	Manufacturer				Universal 4000
PP-33	720	5" x 8" Office Pads - Canary	No Bid	No Bid	No Bid	3.75 2,700.00
	Package	Manufacturer				Universal 46200
		Total "All or None" Bid Price - Group X	No Bid	No Bid	No Bid	14,640.00
GROUP XV: ART TISSUE PAPER						
PP-05	360	20"x30" Size Assorted	No Bid	No Bid	No Bid	9.99 3,596.40
	Packages	Manufacturer				Pacon S85
		Number of Sheets Per Package				100

DATE OF OPENING: February 2, 2006, 10:00 a.m.			MSC Industrial Supply		National Art & School		Peninsular Paper Company		Pyramid School Products	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			2186 Drew St.		2195 Elizabeth Ave.		5101 E. Hanna Ave.		6510 North 54th St.	
BID #07-004-MK			Clearwater, FL 33765		Rahway, NJ 07065		Tampa, FL 33610		Tampa, FL 33610	
Recommendation - Part II			800-330-8005		866-381-5001		813-621-3091		813-621-6446	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
GROUP I - DRAWING PAPER										
PP-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid	4.88	5,856.00
	Reams	Manufacturer							American Paper 809W	
PP-02	900	12" x 18" White		No Bid		No Bid		No Bid	9.77	8,793.00
	Reams	Manufacturer							American Paper 812W	
PP-04	360	12"x18" Size Buff		No Bid		No Bid		No Bid	9.89	3,560.40
	Reams	Manufacturer							American Paper 812M	
		Total "All or None" Bid Price - Group I		No Bid		No Bid		No Bid		18,209.40
GROUP IA - DRAWING PAPER										
PPA-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-02	900	12" x 18" White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-04	360	18" x 24" Buff		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
		Total "All or None" Bid Price - Group IA		No Bid		No Bid		No Bid		No Bid
GROUP IV: CHART PAPER & NEWSPRINT										
PP-09	200	Practice Paper		No Bid		No Bid		No Bid	21.50	4,300.00
	Cartons	Manufacturer							American Paper ARN8508	
PP-14	120	Manila Tag Sheet		No Bid		No Bid		No Bid	13.36	1,603.20
	Cartons	Manufacturer							American Paper 8740C	
PP-15	1,800	Chart Paper, Spiral Bound		No Bid		No Bid		No Bid	2.19	3,942.00
	Pads	Manufacturer							American Paper APS2415	
PP-16	200	9" x 12" Newsprint		No Bid		No Bid		No Bid	14.95	2,990.00
	Cases	Manufacturer							Pacon 3407	
PP-17	200	12"x18" Newsprint Un-ruled		No Bid		No Bid		No Bid	14.95	2,990.00
	Cartons	Manufacturer							Pacon 3409	
PP-57	150	Storybook Newsprint		No Bid		No Bid		No Bid	22.20	3,330.00
	Cases	Manufacturer							American Paper RWN1218	

DATE OF OPENING: February 2, 2006, 10:00 a.m.			MSC Industrial Supply	National Art & School	Peninsular Paper Company	Pyramid School Products		
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			2186 Drew St.	2195 Elizabeth Ave.	5101 E. Hanna Ave.	6510 North 54th St.		
BID #07-004-MK			Clearwater, FL 33765	Rahway, NJ 07065	Tampa, FL 33610	Tampa, FL 33610		
Recommendation - Part II			800-330-8005	866-381-5001	813-621-3091	813-621-6446		
GROUP IVA: CHART PAPER & NEWSPRINT								
PP-09A	200	Practice Paper		No Bid	No Bid	No Bid	No Bid	
	Cartons	Manufacturer						
PP-14A	120	Manila Tag Sheet		No Bid	No Bid	No Bid	No Bid	
	Cartons	Manufacturer						
PP-15A	1,800	Chart Paper, Spiral Bound		No Bid	No Bid	No Bid	No Bid	
	Pads	Manufacturer						
PP-16A	200	9" x 12" Newsprint		No Bid	No Bid	No Bid	No Bid	
	Cartons	Manufacturer						
PP-17A	200	12"x18" Newsprint Un-ruled		No Bid	No Bid	No Bid	No Bid	
	Cases	Manufacturer						
PP-57A	150	Storybook Newsprint		No Bid	No Bid	No Bid	No Bid	
	Cases	Manufacturer						
GROUP V: CONSTRUCTION PAPER								
		Manufacturer					Riverside Tru-Ray	
PP-18A	3,000	Orange		No Bid	No Bid	No Bid	1.45	\$4,350.00
	Packages							
PP-18B	3,000	Holiday Green		No Bid	No Bid	No Bid	1.45	4,350.00
	Packages							
PP-18C	3,000	Scarlet Red		No Bid	No Bid	No Bid	1.51	4,530.00
	Packages							
PP-18D	3,000	White		No Bid	No Bid	No Bid	1.29	3,870.00
	Packages							
PP-18E	3,000	Black		No Bid	No Bid	No Bid	1.29	3,870.00
	Packages							
PP-18F	1,500	Light Brown (Warm)		No Bid	No Bid	No Bid	1.38	2,070.00
	Packages							
PP-18G	3,000	Yellow		No Bid	No Bid	No Bid	1.38	4,140.00
	Packages							

DATE OF OPENING: February 2, 2006, 10:00 a.m.			MSC Industrial Supply	National Art & School	Peninsular Paper Company	Pyramid School Products
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			2186 Drew St.	2195 Elizabeth Ave.	5101 E. Hanna Ave.	6510 North 54th St.
BID #07-004-MK			Clearwater, FL 33765	Rahway, NJ 07065	Tampa, FL 33610	Tampa, FL 33610
Recommendation - Part II			800-330-8005	866-381-5001	813-621-3091	813-621-6446
GROUP VA: CONSTRUCTION PAPER-Recycled						
		Manufacturer				Riverside R Series
PPA-18A	3,000	Orange	No Bid	No Bid	No Bid	1.09 3,270.00
	Packages					
PPA-18B	3,000	Holiday Green	No Bid	No Bid	No Bid	0.99 2,970.00
	Packages					
PPA-18C	3,000	Scarlet Red	No Bid	No Bid	No Bid	1.18 3,540.00
	Packages					
PPA-18D	3,000	White	No Bid	No Bid	No Bid	0.99 2,970.00
	Packages					
PPA-18E	3,000	Black	No Bid	No Bid	No Bid	1.07 3,210.00
	Packages					
PPA-18F	1,500	Light Brown (Warm)	No Bid	No Bid	No Bid	1.07 1,070.00
	Packages					
PPA-18G	3,000	Yellow	No Bid	No Bid	No Bid	0.99 2,970.00
	Packages					
PPA-18H	3,000	Dark Blue	No Bid	No Bid	No Bid	1.06 3,180.00
	Packages					
PPA-18I	1,200	Purple	No Bid	No Bid	No Bid	0.99 1,188.00
	Packages					
PPA-18J	3,000	Light Blue	No Bid	No Bid	No Bid	0.99 2,970.00
	Packages					
PPA-18K	1,000	Light Green	No Bid	No Bid	No Bid	0.99 990.00
	Packages					
PPA-18L	1,500	Pink	No Bid	No Bid	No Bid	1.02 1,530.00
	Packages					
PPA-18M	1,000	Red/Orange	No Bid	No Bid	No Bid	1.19 1,190.00
	Packages					
PPA-18O	4,000	Assorted	No Bid	No Bid	No Bid	1.27 5,080.00
	Packages					
PPA-18P	1,500	Dark Brown	No Bid	No Bid	No Bid	1.13 1,695.00
	Packages					
PPA-18R	1,000	Tan	No Bid	No Bid	No Bid	1.09 1,090.00
	Packages					
PPA-18T	1,000	Gray	No Bid	No Bid	No Bid	0.99 990.00
	Packages					
PPA-18U	600	Magenta	No Bid	No Bid	No Bid	1.07 642.00
	Packages					
		Total "All or None" Bid Price - Group VA	No Bid	No Bid	No Bid	40,545.00

DATE OF OPENING: February 2, 2006, 10:00 a.m.			MSC Industrial Supply	National Art & School	Peninsular Paper Company	Pyramid School Products
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			2186 Drew St.	2195 Elizabeth Ave.	5101 E. Hanna Ave.	6510 North 54th St.
BID #07-004-MK			Clearwater, FL 33765	Rahway, NJ 07065	Tampa, FL 33610	Tampa, FL 33610
Recommendation - Part II			800-330-8005	866-381-5001	813-621-3091	813-621-6446
GROUP VI: RAILROAD BOARD						
PP-19	200	White	No Bid	16.50	3,300.00	No Bid 17.25 3,450.00
	Cartons	Manufacturer		Roselle		Riverside 54256
PP-20	300	Assorted Colors	No Bid	21.60	6,480.00	No Bid 26.75 8,025.00
	Cartons	Manufacturer		Roselle		Riverside
		Total "All or None" Bid Price - Group VI-A	No Bid		9,780.00	No Bid 11,475.00
GROUP VI-A: RAILROAD BOARD						
PP-19A	200	White	No Bid		No Bid	No Bid No Bid
	Cartons	Manufacturer				
PP-20A	300	Assorted Colors	No Bid		No Bid	No Bid No Bid
	Cartons	Manufacturer				
		Total "All or None" Bid Price - Group VI-A	No Bid		No Bid	No Bid No Bid
GROUP X: OFFICE PADS						
PP-07	240	5" x 8" Office Pads - White	No Bid		No Bid	No Bid 2.42 580.80
	Package	Manufacturer				Ampad 20-364
PP-08	1,200	8-1/2" x 11" Office Pads - White	No Bid		No Bid	No Bid 3.90 4,680.00
	Package	Manufacturer				Ampad 20-360
PP-27	720	8-1/2" x 11" Office Pads - Yellow	No Bid		No Bid	No Bid 3.90 \$2,808.00
	Package	Manufacturer				Ampad 20-260
PP-28	240	8-1/2" x 14" Office Pads - Yellow	No Bid		No Bid	No Bid 4.95 \$1,188.00
	Package	Manufacturer				Ampad 20-263
PP-33	720	5" x 8" Office Pads - Canary	No Bid		No Bid	No Bid 2.42 1,742.40
	Package	Manufacturer				Ampad 20-264
		Total "All or None" Bid Price - Group X	No Bid		No Bid	No Bid 10,999.20
GROUP XV: ART TISSUE PAPER						
PP-05	360	20"x30" Size Assorted	No Bid		No Bid	3.95 1,422.00
	Packages	Manufacturer				Pacon 5851-6 (1125764)
		Number of Sheets Per Package				100

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Quill Corporation		Redd Paper Company		Ricoh Corporation		School Specialty	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			100 Schelster Road		3851 Center Loop		1531 Boettler Rd. Suite E		W6316 Design Drive	
BID #07-004-MK			Lincolnshire, IL 60069		Orlando, FL 32808		Uniontown, OH 44685		Greenville, WI 54942	
Recommendation - Part II			800-634-4809		407-299-6656		800-563-5739		888-388-3224	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
GROUP I - DRAWING PAPER										
PP-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid	6.31	7,572.00
	Reams	Manufacturer							Pacon X488155-5987	
PP-02	900	12" x 18" White		No Bid		No Bid		No Bid	12.50	11,250.00
	Reams	Manufacturer							Pacon X488155-5987	
PP-04	360	12"x18" Size Buff		No Bid		No Bid		No Bid	11.75	4,230.00
	Reams	Manufacturer							American Paper 812M	
		Total "All or None" Bid Price - Group I		No Bid		No Bid		No Bid		23,052.00
GROUP IA - DRAWING PAPER										
PPA-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-02	900	12" x 18" White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-04	360	18" x 24" Buff		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
		Total "All or None" Bid Price - Group IA		No Bid		No Bid		No Bid		No Bid
GROUP IV: CHART PAPER & NEWSPRINT										
PP-09	200	Practice Paper		No Bid				No Bid	28.70	5,740.00
	Cartons	Manufacturer							Pacon 2694	
PP-14	120	Manila Tag Sheet		No Bid				No Bid	16.12	1,934.40
	Cartons	Manufacturer							American Paper 9740C	
PP-15	1,800	Chart Paper, Spiral Bound	3.05	5,490.00				No Bid	2.85	5,130.00
	Pads	Manufacturer	Bemiss Jason 47410 SC40						Roselle 74710	
PP-16	200	9" x 12" Newsprint		No Bid				No Bid	18.90	3,780.00
	Cases	Manufacturer							Roselle WNP912500	
PP-17	200	12"x18" Newsprint Un-ruled		No Bid				No Bid	37.80	7,560.00
	Cartons	Manufacturer							Roselle WNP121800	
PP-57	150	Storybook Newsprint		No Bid				No Bid		No Bid
	Cases	Manufacturer								

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Quill Corporation	Redd Paper Company	Ricoh Corporation	School Specialty
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			100 Schelster Road	3851 Center Loop	1531 Boettler Rd. Suite E	W6316 Design Drive
BID #07-004-MK			Lincolnshire, IL 60069	Orlando, FL 32808	Uniontown, OH 44685	Greenville, WI 54942
Recommendation - Part II			800-634-4809	407-299-6656	800-563-5739	888-388-3224
GROUP IVA: CHART PAPER & NEWSPRINT						
PP-09A	200	Practice Paper		No Bid		No Bid
	Cartons	Manufacturer				
PP-14A	120	Manila Tag Sheet		No Bid		No Bid
	Cartons	Manufacturer				
PP-15A	1,800	Chart Paper, Spiral Bound		No Bid		No Bid
	Pads	Manufacturer				
PP-16A	200	9" x 12" Newsprint		No Bid		No Bid
	Cartons	Manufacturer				
PP-17A	200	12"x18" Newsprint Un-ruled		No Bid		No Bid
	Cases	Manufacturer				
PP-57A	150	Storybook Newsprint		No Bid		No Bid
	Cases	Manufacturer				
GROUP V: CONSTRUCTION PAPER						
		Manufacturer				Riverside Tru-Ray
PP-18A	3,000	Orange		No Bid		No Bid
	Packages					1.71 5,130.00
						54063
PP-18B	3,000	Holiday Green		No Bid		No Bid
	Packages					1.78 5,340.00
						216778
PP-18C	3,000	Scarlet Red		No Bid		No Bid
	Packages					1.71 5,130.00
						54081
PP-18D	3,000	White		No Bid		No Bid
	Packages					1.52 4,560.00
						54141
PP-18E	3,000	Black		No Bid		No Bid
	Packages					1.52 4,560.00
						54150
PP-18F	1,500	Light Brown (Warm)		No Bid		No Bid
	Packages					1.64 2,460.00
						54138
PP-18G	3,000	Yellow		No Bid		No Bid
	Packages					1.64 4,920.00
						54069

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Quill Corporation	Redd Paper Company	Ricoh Corporation	School Specialty		
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			100 Schelster Road	3851 Center Loop	1531 Boettler Rd. Suite E	W6316 Design Drive		
BID #07-004-MK			Lincolnshire, IL 60069	Orlando, FL 32808	Uniontown, OH 44685	Greenville, WI 54942		
Recommendation - Part II			800-634-4809	407-299-6656	800-563-5739	888-388-3224		
PP-18H	3,000	Dark Blue		No Bid		No Bid	1.78	5,340.00
	Packages						54111	
PP-18I	1,200	Purple		No Bid		No Bid	1.78	2,136.00
	Packages						54414	
PP-18J	3,000	Light Blue		No Bid		No Bid	1.64	4,920.00
	Packages						54108	
PP-18K	1,000	Light Green		No Bid		No Bid	1.64	1,640.00
	Packages						54105	
PP-18L	1,500	Pink		No Bid		No Bid	1.71	2,565.00
	Packages						54096	
PP-18M	1,000	Red/Orange		No Bid		No Bid	1.78	1,780.00
	Packages						54060	
PP-18O	4,000	Assorted		No Bid		No Bid	1.87	7,480.00
	Packages						54156	
PP-18P	1,500	Dark Brown		No Bid		No Bid	1.71	2,565.00
	Packages						54135	
PP-18R	1,000	Tan		No Bid		No Bid	1.64	1,640.00
	Packages						54132	
PP-18T	1,000	Gray		No Bid		No Bid	1.64	1,640.00
	Packages						54144	
PP-18U	600	Magenta		No Bid		No Bid	1.82	1,092.00
	Packages						54057	
		Total "All or None" Bid Price - Group V		No Bid		No Bid		64,898.00

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Quill Corporation	Redd Paper Company	Ricoh Corporation	School Specialty
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			100 Schelster Road	3851 Center Loop	1531 Boettler Rd. Suite E	W6316 Design Drive
BID #07-004-MK			Lincolnshire, IL 60069	Orlando, FL 32808	Uniontown, OH 44685	Greenville, WI 54942
Recommendation - Part II			800-634-4809	407-299-6656	800-563-5739	888-388-3224
GROUP VA: CONSTRUCTION PAPER-Recycled						
		Manufacturer				
PPA-18A	3,000	Orange	No Bid		No Bid	1.28 3,840.00
	Packages					248655
PPA-18B	3,000	Holiday Green	No Bid		No Bid	1.16 3,480.00
	Packages					77387
PPA-18C	3,000	Scarlet Red	No Bid		No Bid	1.33 3,990.00
	Packages					248653
PPA-18D	3,000	White	No Bid		No Bid	1.28 3,840.00
	Packages					248659
PPA-18E	3,000	Black	No Bid		No Bid	1.26 3,780.00
	Packages					248623
PPA-18F	1,500	Light Brown (Warm)	No Bid		No Bid	1.26 1,260.00
	Packages					248626
PPA-18G	3,000	Yellow	No Bid		No Bid	1.16 3,480.00
	Packages					248618
PPA-18H	3,000	Dark Blue	No Bid		No Bid	1.26 3,780.00
	Packages					248627
PPA-18I	1,200	Purple	No Bid		No Bid	1.16 1,392.00
	Packages					248612
PPA-18J	3,000	Light Blue	No Bid		No Bid	1.16 3,480.00
	Packages					248614
PPA-18K	1,000	Light Green	No Bid		No Bid	1.16 1,160.00
	Packages					248616
PPA-18L	1,500	Pink	No Bid		No Bid	1.16 1,740.00
	Packages					248610
PPA-18M	1,000	Red/Orange	No Bid		No Bid	1.40 1,400.00
	Packages					248658
PPA-18O	4,000	Assorted	No Bid		No Bid	1.49 5,960.00
	Packages					248654
PPA-18P	1,500	Dark Brown	No Bid		No Bid	1.33 1,995.00
	Packages					248656
PPA-18R	1,000	Tan	No Bid		No Bid	1.28 1,280.00
	Packages					54318
PPA-18T	1,000	Gray	No Bid		No Bid	1.16 1,160.00
	Packages					248620
PPA-18U	600	Magenta	No Bid		No Bid	1.26 756.00
	Packages					248624
Total "All or None" Bid Price - Group VA			No Bid		No Bid	47,773.00

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Quill Corporation		Redd Paper Company		Ricoh Corporation		School Specialty	
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			100 Schelster Road		3851 Center Loop		1531 Boettler Rd. Suite E		W6316 Design Drive	
BID #07-004-MK			Lincolnshire, IL 60069		Orlando, FL 32808		Uniontown, OH 44685		Greenville, WI 54942	
Recommendation - Part II			800-634-4809		407-299-6656		800-563-5739		888-388-3224	
GROUP VI: RAILROAD BOARD										
PP-19	200	White		No Bid			No Bid	21.15	4,230.00	
	Cartons	Manufacturer								Pacon 048621
PP-20	300	Assorted Colors		No Bid			No Bid	27.20	8,160.00	
	Cartons	Manufacturer								Pacon
		Total "All or None" Bid Price - Group VI-A		No Bid			No Bid		12,390.00	
GROUP VI-A: RAILROAD BOARD										
PP-19A	200	White		No Bid			No Bid			No Bid
	Cartons	Manufacturer								
PP-20A	300	Assorted Colors		No Bid			No Bid			No Bid
	Cartons	Manufacturer								
		Total "All or None" Bid Price - Group VI-A		No Bid			No Bid			No Bid
GROUP X: OFFICE PADS										
PP-07	240	5" x 8" Office Pads - White	2.00	480.00			No Bid			No Bid
	Package	Manufacturer	Quill 742326							
PP-08	1,200	8-1/2" x 11" Office Pads - White	3.61	4,332.00			No Bid			No Bid
	Package	Manufacturer	Quill 742328							
PP-27	720	8-1/2" x 11" Office Pads - Yellow	3.61	2,599.20			No Bid			No Bid
	Package	Manufacturer	Quill 740022							
PP-28	240	8-1/2" x 14" Office Pads - Yellow	4.61	1,106.40			No Bid			No Bid
	Package	Manufacturer	Quill 740022L							
PP-33	720	5" x 8" Office Pads - Canary	2.00	1,440.00			No Bid			No Bid
	Package	Manufacturer	Quill 742332							
		Total "All or None" Bid Price - Group X		9,957.60			No Bid			No Bid
GROUP XV: ART TISSUE PAPER										
PP-05	360	20"x30" Size Assorted	4.97	1,789.20			No Bid	4.97	1,789.20	
	Packages	Manufacturer	Versatile 58516							Pacon 58516
		Number of Sheets Per Package	100							100

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Smith Office & Computer	Standard Stationery Supply	US Food Service	Windtree Enterprises				
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			1009 S. 21st Ave.	2251 Foster Ave.	P.O. Box 330	P.O. Box 810700				
BID #07-004-MK			Hollywood, FL 33020	Wheeling, IL 60090	Lakeland, FL 33802	Boca Raton, FL 33481				
Recommendation - Part II			800-464-0874	800-870-1315	863-577-4252	800-233-7042				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
GROUP I - DRAWING PAPER										
PP-01	1200	9" x 12" Size White		No Bid	5.04	6,048.00		No Bid	6.49	7,788.00
	Reams	Manufacturer			APC809W				Windtree WD91280	
PP-02	900	12" x 18" White		No Bid	10.09	9,081.00		No Bid	12.98	11,682.00
	Reams	Manufacturer			APC812W				Windtree WD121880	
PP-04	360	12"x18" Size Buff		No Bid	9.16	3,297.60		No Bid	12.98	4,672.80
	Reams	Manufacturer			Roselle				Windtree WD121880	
		Total "All or None" Bid Price - Group I		No Bid		18,426.60		No Bid		24,142.80
GROUP IA - DRAWING PAPER										
PPA-01	1200	9" x 12" Size White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-02	900	12" x 18" White		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
PPA-04	360	18" x 24" Buff		No Bid		No Bid		No Bid		No Bid
	Reams	Manufacturer								
		Total "All or None" Bid Price - Group IA		No Bid		No Bid		No Bid		No Bid
GROUP IV: CHART PAPER & NEWSPRINT										
PP-09	200	Practice Paper		No Bid	17.13	3,426.00		No Bid	42.50	8,500.00
	Cartons	Manufacturer			Roselle				D'Nealian 4120D	
PP-14	120	Manila Tag Sheet		No Bid	12.31	1,477.20		No Bid	17.35	2,082.00
	Cartons	Manufacturer			Roselle				Pacon 5163	
PP-15	1,800	Chart Paper, Spiral Bound		No Bid	2.08	3,744.00		No Bid	2.31	4,158.00
	Pads	Manufacturer			Roselle					
PP-16	200	9" x 12" Newsprint		No Bid	15.36	3,072.00		No Bid	15.80	3,160.00
	Cases	Manufacturer			Roselle				Pacon 3407	
PP-17	200	12"x18" Newsprint Un-ruled		No Bid	15.36	3,072.00		No Bid	15.80	3,160.00
	Cartons	Manufacturer			Roselle				Pacon 3409	
PP-57	150	Storybook Newsprint		No Bid	19.64	2,946.00		No Bid	44.75	6,712.50
	Cases	Manufacturer			Roselle				Pacon SBN1218	

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Smith Office & Computer	Standard Stationery Supply	US Food Service	Windtree Enterprises		
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			1009 S. 21st Ave.	2251 Foster Ave.	P.O. Box 330	P.O. Box 810700		
BID #07-004-MK			Hollywood, FL 33020	Wheeling, IL 60090	Lakeland, FL 33802	Boca Raton, FL 33481		
Recommendation - Part II			800-464-0874	800-870-1315	863-577-4252	800-233-7042		
GROUP IVA: CHART PAPER & NEWSPRINT								
PP-09A	200	Practice Paper	No Bid	No Bid	No Bid	No Bid		
	Cartons	Manufacturer						
PP-14A	120	Manila Tag Sheet	No Bid	No Bid	No Bid	No Bid		
	Cartons	Manufacturer						
PP-15A	1,800	Chart Paper, Spiral Bound	No Bid	No Bid	No Bid	No Bid		
	Pads	Manufacturer						
PP-16A	200	9" x 12" Newsprint	No Bid	No Bid	No Bid	No Bid		
	Cartons	Manufacturer						
PP-17A	200	12"x18" Newsprint Un-ruled	No Bid	No Bid	No Bid	No Bid		
	Cases	Manufacturer						
PP-57A	150	Storybook Newsprint	No Bid	No Bid	No Bid	No Bid		
	Cases	Manufacturer						
GROUP V: CONSTRUCTION PAPER								
		Manufacturer		Riversdie Tru-Ray				
PP-18A	3,000	Orange	No Bid	1.46	4,380.00	No Bid	1.73	5,190.00
	Packages							
PP-18B	3,000	Holiday Green	No Bid	1.46	4,380.00	No Bid	1.56	4,680.00
	Packages							
PP-18C	3,000	Scarlet Red	No Bid	1.52	4,560.00	No Bid	1.68	5,040.00
	Packages							
PP-18D	3,000	White	No Bid	1.30	3,900.00	No Bid	1.37	4,110.00
	Packages							
PP-18E	3,000	Black	No Bid	1.30	3,900.00	No Bid	1.54	4,620.00
	Packages							
PP-18F	1,500	Light Brown (Warm)	No Bid	1.40	2,100.00	No Bid	1.50	2,250.00
	Packages							
PP-18G	3,000	Yellow	No Bid	1.40	4,200.00	No Bid	1.47	4,410.00
	Packages							

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Smith Office & Computer	Standard Stationery Supply	US Food Service	Windtree Enterprises
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			1009 S. 21st Ave.	2251 Foster Ave.	P.O. Box 330	P.O. Box 810700
BID #07-004-MK			Hollywood, FL 33020	Wheeling, IL 60090	Lakeland, FL 33802	Boca Raton, FL 33481
Recommendation - Part II			800-464-0874	800-870-1315	863-577-4252	800-233-7042
GROUP VA: CONSTRUCTION PAPER-Recycled						
		Manufacturer				
PPA-18A	3,000	Orange	No Bid	1.10	3,300.00	No Bid
	Packages					
PPA-18B	3,000	Holiday Green	No Bid	.997	2,991.00	No Bid
	Packages					
PPA-18C	3,000	Scarlet Red	No Bid	1.20	3,600.00	No Bid
	Packages					
PPA-18D	3,000	White	No Bid	.997	2,991.00	No Bid
	Packages					
PPA-18E	3,000	Black	No Bid	1.08	3,240.00	No Bid
	Packages					
PPA-18F	1,500	Light Brown (Warm)	No Bid	1.08	1,080.00	No Bid
	Packages					
PPA-18G	3,000	Yellow	No Bid	.997	2,991.00	No Bid
	Packages					
PPA-18H	3,000	Dark Blue	No Bid	1.08	3,240.00	No Bid
	Packages					
PPA-18I	1,200	Purple	No Bid	.997	1,196.40	No Bid
	Packages					
PPA-18J	3,000	Light Blue	No Bid	.997	2,991.00	No Bid
	Packages					
PPA-18K	1,000	Light Green	No Bid	.997	997.00	No Bid
	Packages					
PPA-18L	1,500	Pink	No Bid	1.04	1,560.00	No Bid
	Packages					
PPA-18M	1,000	Red/Orange	No Bid	1.20	1,200.00	No Bid
	Packages					
PPA-18O	4,000	Assorted	No Bid	1.28	5,120.00	No Bid
	Packages					
PPA-18P	1,500	Dark Brown	No Bid	1.14	1,710.00	No Bid
	Packages					
PPA-18R	1,000	Tan	No Bid	1.10	1,100.00	No Bid
	Packages					
PPA-18T	1,000	Gray	No Bid	.997	997.00	No Bid
	Packages					
PPA-18U	600	Magenta	No Bid	1.08	648.00	No Bid
	Packages					
		Total "All or None" Bid Price - Group VA	No Bid		40,952.40	No Bid

DATE OF OPENING: February 2, 2006, 10:00 a.m.			Smith Office & Computer	Standard Stationery Supply	US Food Service	Windtree Enterprises		
TITLE: PAPER PRODUCTS/WAREHOUSE STOCK			1009 S. 21st Ave.	2251 Foster Ave.	P.O. Box 330	P.O. Box 810700		
BID #07-004-MK			Hollywood, FL 33020	Wheeling, IL 60090	Lakeland, FL 33802	Boca Raton, FL 33481		
Recommendation - Part II			800-464-0874	800-870-1315	863-577-4252	800-233-7042		
GROUP VI: RAILROAD BOARD								
PP-19	200	White	No Bid	16.79	3,358.00	No Bid	15.95	3,190.00
	Cartons	Manufacturer		Roselle			Beveridge	
PP-20	300	Assorted Colors	No Bid	22.39	6,717.00	No Bid	19.95	5,985.00
	Cartons	Manufacturer		Roselle			Beveridge	
		Total "All or None" Bid Price - Group VI-A	No Bid		10,075.00	No Bid		9,175.00
GROUP VI-A: RAILROAD BOARD								
PP-19A	200	White	No Bid		No Bid	No Bid	15.95	3,190.00
	Cartons	Manufacturer					Beveridge	
PP-20A	300	Assorted Colors	No Bid		No Bid	No Bid	19.95	5,985.00
	Cartons	Manufacturer					Beveridge	
		Total "All or None" Bid Price - Group VI-A	No Bid		No Bid	No Bid		9,175.00
GROUP X: OFFICE PADS								
PP-07	240	5" x 8" Office Pads - White	No Bid	2.42	580.80	No Bid	2.95	708.00
	Package	Manufacturer		Ampad 20-364			Mead 59128	
PP-08	1,200	8-1/2" x 11" Office Pads - White	No Bid	3.88	4,656.00	No Bid	4.26	5,112.00
	Package	Manufacturer		Ampad 20-360			Mead 59132	
PP-27	720	8-1/2" x 11" Office Pads - Yellow	No Bid	3.88	2,793.60	No Bid	4.26	3,067.00
	Package	Manufacturer		Ampad 20-260			Mead 59130	
PP-28	240	8-1/2" x 14" Office Pads - Yellow	No Bid	4.97	1,192.80	No Bid	6.26	1,502.40
	Package	Manufacturer		Ampad 20-263			Mead 59134	
PP-33	720	5" x 8" Office Pads - Canary	No Bid	2.42	1,742.40	No Bid	2.95	2,124.00
	Package	Manufacturer		Ampad 20-264			Mead 59126	
		Total "All or None" Bid Price - Group X	No Bid		10,965.60	No Bid		12,513.60
GROUP XV: ART TISSUE PAPER								
PP-05	360	20"x30" Size Assorted	No Bid		No Bid	No Bid	4.15	1,494.00
	Packages	Manufacturer					Windtree 88127	
		Number of Sheets Per Package						